NZXT

H7 FLOW &
H7 FLOW RGB

MID-TOWER ATX AIRFLOW CASE

EXPLODED VIEW

CLEARANCES AND SPECIFICATIONS

Cartes mére prises en charge EATX, ATX, MircATX, MinilTX

Ol e E X2l

EATX, ATX, Micro

$SD2,5” 2+2 ATX, Mini ITX
VISTA EXPLQSIONADA MEDIDAS Y ESPECIFICACIONES Disques durs 3,5” 2 2.5"SSD 242
VUE ECLATEE DEGAGEMENTS ET SPECIFICATIONS Fentes d’expansion 7 3.5" HDD 2
EXPLOSIONSDARSTELLUNG ABSTANDE UND TECHNISCHE DATEN Espace pour la gestion des cables Jusqu’a 34,5 mm aEt & 7
VEDUTA IN ESPLOSO SPAZI NECESSARI E SPECIFIPHE Espace libre au niveau du refroidisseur J 4 185 mm Aol pia) 27t A/} 34.5mm
VISTA EXPLODIDA DIMENSOES E ESPECIFICACOES de processeur usqu'a AL el
e 240t 74 Espace libre au niveau de la carte o ., CPU 23 74 2|t 185mm
BN ZE & AR graphique a GPU 7t4 A|CH 410mm
B RRE 1BBE SHIE Iéongueurde lalimentation Jusqu'a 200 mm PSU 20| #|T§ 200mm
B ARE [ EEEA AR paisseur cumulée radiateur et
B ventilateur 140 mm / 280 mm Jusqu'a 57 mm ggﬁﬁsﬁ QJAEN'Y;‘";‘{ 2=87?1|mm |t 57mm
230MM 480MM a montage supérieur = E=sT
I | I |
1. Pannello superiore 1. byT RV T T ERTWATANTEraATR
. " , ATX, Micro-ATX, A , MicroATX,
G 2. Modulo I/0 superiore 2. by TI0OEVI—IL " ] Motherboard-Unterstiitzung MiniciTx P —R—FHR=k MinilTX
3 . Pannello anteriore 3. 7av bRV . m 2,5-Zoll-SSD 242 2.5"SSDH A—h 2+2
4 . Radiatore anteriore/staffa ventola amovibile 4. BUNLBIRER DAY NSV T—2—/T7 0TS Szl z o HDDD\?/T\T b 2
5 . Gabbia SSD 5.88D 45— Erweiterungssteckplatze 7 TIOR3V A A0y h 7
-oa Ie.‘ : ( Platz fiir Kabelmanagement Bis zu 34,5 mm =7 IVEBAR=Z BA 34.5mm
6 . Alloggiamento HDD 6. HDD L1 Freiraum fiar CPU-Kuhler Bis zu 185 mm CPU/—5—D7UT 5V S 185 mm
7 . Barra di gestione dei cavi 7.9 REE 1 Freiraum fiir GPU Bis zu 410 mm GPU 2T SR BA 410 mm
8 . Pannello laterale sinistro di vetro temperato 8. Rk AR/ SFRIL I Lange des Netzteils Bis zu 200 mm PSUjEtr - K 200 mm
— e . 9 by 7D R 140mm / 280mm 7
{ 9 . Pannello laterale destro 9. BEHAR/IRIL = | Kombinierte Dicke des oben montierten . g S \renn U . =
= 140/280-mm-Radiators und Liifters  ©'° 2457 mm 36]%73/1 H-ETTIORBED  BA ST mm
3
0
o 1. Top Panel 1. Panneau supérieur 1. Painel superior 1. EER | i i i
: 2. M E éri 6 i i . - i Scheda madre supportata ;ATXI’.I,‘)\(TX’ Micro ATX, EX 521 EATX, ATX, Micro ATX,
2. Top I/0 module - Module E/S supérieur 2 . Médulo de entrada/saida superior 2 . TRER 1/0 5k . ini Mini ITX
3. Front panel 3. Panneau avant 3. Painel frontal 3. AIER fI[I;II?) é“r;" §+2 ;:"iiii’:’; §+2
i 4. Si rt de radiateur/ ventilats it ibl i i i B ! o " e
4 . Removable front radiator/fan bracket upport de ra Ia-eur ventilateur avant amovible 4 . Suporte de ventoinha/radiador frontal removivel 4 . SIRENRORTE BUAR/ KB Z R Alloggi d’espansione 7 i 75HE 7
5. SSD Cage D Ll el g S0 5 . Compartimento para SSD 5. EXERE 1 Spazio gestione cavi Fino a 34.5mm LA EIREE A 34.5mm
6. HDD Tray 6 . Plateau du disque dur 6 . Bandeja para HDD 6. WRIER Ingombro refrigeratore per CPU Fino a 185mm CPU Eiagialie BA 185mm
7 . Cable bar 7 . Barre de balayage pour nettoyage 7 . Barra de limpeza 7 . BAMIT Ingombro per GPU Fino a 410mm GPU [Ei /A 410mm
8 . Tempered glass panel 8 . Panneau gauche en verre trempé 8 . Painel esquerdo em vidro temperado 8 . EMIMILHIBER - Lunghez%a .allmentatore Fino a 200mm PSU K X 200mm
” . Montaggio in alto 140mm / 280mm Fino a 57mm TR 140mm / 280mm HiFREE BA 57
9 . Right side panel 9. Panneau latéral droit 9 . Painel lateral direito 9 . AVER spessore radiatore & ventola combinati il MNBESEE (D
EATX, ATX, Micro-ATX - EATX, ATX, Micro-ATXy -brincipai EATX, ATX, Micro-ATX, EATX, ATX, Micro ATX,
1. Panel superior 1. Abdeckung oben RS 1. EE Mistimizaa] S and Mini-ITX s imme 2 Mini-ITX :lsa;‘; ”;'"°"’a'5 SIS gllir;i-lTX EihsiE Mini ITX
, f ; » e2,5" + " =
2 . Médulo de E/S superior 2 . 1/0-Modul an der Oberseite 2. MEH02E 2 . TRER /0 B 2.5” SSD Support 2+2 Unidad de estado s6lido de 2,5 2+2 y 25'SSD¥ 1% 2+2
- 3.5" HDD Support 2 Unidad de disco duro de 3,5” 2 HDD de 3,5 2 3.5"HDDzE 2
3. Panel frontal 3. Frontpanel 3. dEmd 3. BUER . Ranuras de ex| is 7 Ranh d = 7
Expansion Slots 7 pansion anhuras de expansao i 7
4 . Soporte de radiador/ventilador frontal extraible 4 . Abnehmbare Radiator-/Liifterhalterung vorn 4 SEA T E 2tc|ofo|E /M Hef 3l 4 . OIREIRAT B AR/ ARER Cable Management Space Up to 34.5mm Espac?o para orga.nizacién decables  Hasta 34,5 mm Espago para gestléo de cabos ) Até 34,5 mm SEEIETRy BA 34.5mm
5. Jaula de SSD 5. SSD-Kafig 5. SSD #|O|X| 5 . EIAEREAAE CPU Cooler Clearance Up to 185mm E:g::slg‘?:rra refrigerador del Hasta 185 mm 5;;3:@8 necessario para o refrigerador 4o CPU BrzhS2mE 2K 185mm
6 . Bandeja de disco duro 6 . HDD-Schale 6. HDD £20] 6 . IRESER GPU Clearance Up to 410mm Espacio para grafica Hasta 410 mm Espago necessario para a GPU Até 410 mm SRUJEE fﬁ &10mm
7 . Barra de limpieza 7. Reinigungsleiste 7. Aol Fal vt 7. BRR PSU Length Up to 200mm Longitud de la fuente de alimentacién Hasta 200 mm Comprimento da fonte de alimentagéo Até 200 mm PSURE BA 200mm
. Panel istal te lado izqui 8 . Linke Hartglasbl 8. xt= s Qelmy 8 . EERILBEER Grosor de radiador y ventilador de 140 Espessura combinada de ventoinha e TEsE= 140 /280mm Hi#sE
8 . Panel de cristal templado izquierdo inke Hartglasblende HEE hr_l i ;Oz.M:u'ge: 1~’oCUmrrl1)_/ zgqul.mk Up to 57mm mm/280 mm combinados en la parte Hasta 57 mm radiador de 140 mm/280 mm Até 57 mm ;ﬂ@%mg%r‘"g BA 57mm
9. Panel lateral derecho 9. Rechte Blende 9. 2 Mol 1fd 9. AR adiator & Fan Lombined Thickness superior montados no topo
CAJA DE ACCESORIOS DISCO DE ADMINISTRACION DE CABLES BOTONES Y E/S SISTEMA DE GESTIGN DE CABLES
BOITE D'ACCESSOIRES CONNEXIONS DES CABLES BOUTONS ETE/S SYSTEME DE CABLAGE
ZUBEHORSET KABELVERBINDUNGEN TASTEN UND E/A KABELMANAGEMENTSYSTEM
SCATOLA DEGLI ACCESSORI . . . n N COLLEGAMENTI DEI CAVI PULSANTI E I/0 SISTEMA DI GESTIONE DEI CAVI
CAIXA DE ACESSORIOS A . Hexagon Screw 6-32 X 6mm Power supply installation A . Parafusos hexagonal 6-32 x 6 mm Instalagao da fonte de alimentagao LIGACOES DE CABOS BOTOES E E/S SISTEMA DE GERENCIAMENTO DE CABOS
OfN|ALE| BEA B. Screw 6-32 X 5mm Motherboard installation, 3.5 hard drive installation B. Parafusos 6-32 x 5 mm Instalacao da placa principal, instalacéo da unidade de 3,5" EEXE HE 9 1/0 Ho|g 2| AlAE
ERGRES GHEAZALY) C. Screw M3 X 5mm 2.5 hard drive installation C. Parafusos M3 x 5 mm Instalagéo da unidade de 2,5" =7 VR REVELUI1/0 T=TIWRZIA VNI AT
- s i 2
EHE D. Screw CB5 X 10mm Fan installation D. Parafusos CB5 x 10 mm Instalagéo da ventoinha SHIER #ER1/0 BAERAY
THR f i a ; g A 1/0 BIREHEAG
E . Flathead CB5 x 13.5mm Fan installation E . Parafusos CB5 x 13.5 mm Instalagado da ventoinha 1
F . Standoff 6-32 X 6.5+4mm Motherboard installation F . Separadores 6-32 x 6.5+4 mm Instalagao da placa principal &)
G . Standoff Wrench Motherboard installation G . Chave para separador Instalagao da placa principal
H. Cable Tie Cable managment H. Bracadeira para cabos Gestao de cabos . 2 FRONT I/0 CABLE AND
FRONT FAN
A . Tornillo hexagonal de 6-32 x 6 mm Instalacién de la fuente de alimentacién A. S2ZtLEA}6-32 x 6mm HAZIEA MK
B. Tornillo de 6-32 x 5 mm Instalacion de la placa base e instalacion de la unidad de disco duro de 3,5" B. LtAF6-32 x 5Smm OfHEE X, 3.538l= =202 AX|
’ e ; — ABLE AND 8 PIN
C . Tornillo M3 x 5mm Instalacién de la unidad de disco duro de 2,5" C. LHAF M3 x 5mm 2.58lE E20|E2 MX| 3 24PINC
D . Tornillo CB5 x 10 mm Instalacion del ventilador D. LIAFCB5 x 10mm FLR=PN] CABLE CHANNEL
E . Tornillo CB5 x 13.5 mm Instalacién del ventilador E.LIAFCB5 x 13.5mm o Ax|
F . Separador 6-32 x 6.5 +4 mm Instalacion de la placa base F.AHEQZ 6-32x6.5+4mm OtHEE MX|
G. Llave para separadores Instalacion de la placa base G. AEHE Q@ RIX| OHEE M| —— 4
H. Brida para cables Administracion de los cables H. #[0| & EtO] Aols Fel 5
A . Vis hexagonale 6-32 x 6 mm Installation de l'alimentation électrique A. 63%6-32x 6mm %E%Eﬁi : 8 PIN CABLE CHANNEL
B. Vis6-32 x5 mm Installation de la carte mére, installation du disque dur 3,5” B. %2)6-32x 5mm T —R—FEE 3.5HDDEER
A Hexagon Screw 6-32 x 6mm E Flathead CB5 x 13.5mm C.Vis M3x5mm Installation du disque dur 2,5” c. M3 x 5mm 2.5HDDEE
: : : o~
i 12 D. VisCB5x 10 mm Installation du ventilateur D. {CBSx 10mm 77 /%éﬁﬁ P T—r— Mingressacuttie 1 ENEEREL
) . ) 5 s
Azl . E.Vis CB5x 13,5 mm Installation du ventilateur 2 5 R e /ﬁ%ﬁ FOR INTEL STANDARD F_PANEL HEADER USE USB 3.2 GEN 2 TYPE-C 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C
- » F . Entretoise 6-32 x 6,5 + 4 mm Installation de la carte mére F. 22> R4 76-32 x 6.5+4mm <Y &R 3. USB3.2 Gen1 Type-A 3.USB3.2Gen1 Type-A 3.USB3.2Gen1Type-A
G. Clé pour entretoise Installation de la carte mére G.RZVRFT LVF SJY—R—F&ER 4 . Power Switch 4 . Interruttore d’alimentazione 4. BIEITR
H. Attache-cable Gestion du cablage H. 7=7)L2A =7 IVEER 5. Power LED 5. LED alimentazione 5. BJELED i
B screw6-32x5mm F standoff 6-32 x 6.5+4mm
_ - . ~ 9 grEen |
A . Sechskantschraube 6 — 32 x 6 mm Netzteilinstallation A. REIRL 6-32x6mm ZRER 1 acK para atriculares 1 . b b et 1. ERESEETL ﬂl - 1
x17 x1 B. Schraube 6 - 32 x5 mm Motherboard-Installation, 3,5-Zoll-Festplatteninstallation B. 2% 6-32 x 5mm EREE, 35 EETE 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C | l
C . Schraube M3 x5 mm 2,5-Zoll-Festplatteninstallation C. 8% M3 x5mm 25 BRTR 3.USB 3.2 Gen1 Type-A 3. USB 3.2 Gen1 Type-A 3. USB 3.2 Gen1 Type-A ! l
4 D . Schraube CB5 x 10 mm Lufterinstallation D. 824 CB5x 10mm ZENE 4 . Interruptor de encendido 4 . Interruptor de alimentagao 4 . BIREAR A ]
E . Schraube CB5 x 13,5 mm Lifterinstallation E. $8# CB5x 13.5mm RENE 5 . LED de alimentacion 5. LED de alimentacao 5. @FLED J l
G F . Abstandhalter 6 — 32 x 6,5 + 4 mm Motherboard-Installation F . B4 6-32 x 6.5+4mm ERER r j]I l
C Screw M3 x 5mm Standoff Wrench G . Abstandhalter-Schlissel Motherboard-Installation G. MEER FRRE L) E o — 1. Prise Casque 1.8EM o |
x16 x1 H. Kabelbinder Kabelverwaltung H. R&H HHER F E (=] 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C
@ . =2 3. USB 3.2 Gen1 Type-A 3.USB3.2Genl Type-A
- A. Vite esagonale 6-32 x 6 mm Installazione dell’alimentatore A. RERE 6-32x 6mm ZRER < |— 4 . Interrupteur marche/arrét 4. M AKX o
B. Vite 6-32x5mm Installazione della scheda madre, installazione HDD 3.5” B. 824 6-32 x 5mm ER LR, 3.5 B =] 5 . Témoin d’alimentation 5. M@ LED
C. Vite M3 x 5 mm Installazione HDD 2.5” C. 884 M3 x5mm 2.5 BIRRZR I — u
D Screw CB5 x 10mm H Cable ties D. Vite CB5 x 10 mm Installazione della ventola D. #24 CB5x 10mm LERRSF 1. Headset-Buchse 1. AYERY s :.:‘_ - i Jed BHD . R— ]
28 10 E . Schraube CB5 x 13.5 mm Installazione della ventola E . $8% CB5x 13.5mm ZEEB 2. USB 3.2 Gen2 Type-C 2. USB 3.2 Gen2 Type-C ] . — ¥
: %9 . / F . Distanziatore 6-32 x 6.5 + 4 mm Installazione della scheda madre F . fI4E 6-32 x 6.5+4mm EREE USB 3.2 GEN 1 TYPE-A HD AUDIO 3. USB3.2Gen1 Type-A 3.USB3.2Gen1Type-A ﬂ":J f
G . Chiave per distanziatori Installazione della scheda madre G. WHER ELt 4 . Netzschalter 4. BEAAVF & _Hi
H. Fascetta per cavi Gestione dei cavi H. R&H o3 -1 5 . Betriebs-LED 5. /{7—LED




PANEL REMOVAL

EXTRACCION DE PANEL
RETRAIT DU PANNEAU
BLENDE ENTFERNEN

CABLE BAR

BARRA PARA CABLES
BARRE DE CABLAGE
KABELSCHIENE

MOTHERBOARD INSTALLATION SSD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DE ESTADO SOLIDO
| INSTALLATION DU DISQUE SSD
SSD-LAUFWERKSINSTALLATION

HDD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DURO
INSTALLATION DE LECTEUR HDD
HDD-LAUFWERKSINSTALLATION

INSTALACION DE LA PLACA BASE
INSTALLATION DE LA CARTE MERE — 2
INSTALLATION DER HAUPTPLATINE

RIMOZIONE DEL PANNELLO

BARRA DEI CAVI

INSTALLAZIONE DELLA SCHEDA MADRE

INSTALLAZIONE DELL’UNITA SDD

INSTALLAZIONE DELL’UNITA HDD

REMOGAO DOS PAINEIS BARRA DE CABOS INSTALAGCAO DA PLACA PRINCIPAL INSTALAGAO DA PLACA DE EXPANSAO INSTALAGAO DA PLACA DE EXPANSAO
g A #olg Ht OlHEE HX| SSD E2to|2 HX| HDD E2to|= HX|

JSRIVDEISL =7 IbIN— N 1 SSD#EE HDDZ##E

HTFER BL R SSD g sk HDD IR %

BIRER BIGHER SSDZ# i3s3

s
- ———

LD

N

EXPANSION CARD INSTALLATION

POWER SUPPLY INSTALLATION

FAN AND RADIATOR SUPPORT

FAN & RADIATOR INSTALLATION

POWERING THE LEDS

INSTALACION DE LA TARJETA DE EXPANSION INSTALACION DE LA FUENTE DE ALIMENTACION COMPATIBILIDAD DE VENTILADORES Y RADIADORES INSTALACION DE VENTILADORES Y RADIADORES COMO ALIMENTAR LAS LUCES LED (ARGB 5 V)
INSTALLATION DE LA CARTE D’EXTENSION INSTALLATION DE L’ALIMENTATION PRISE EN CHARGE DES RADIATEURS ET VENTILATEURS INSTALLATION DES RADIATEURS ET VENTILATEURS = g ALIMENTATION DES LED (RVBA 5 V)
INSTALLATION DER ERWEITERUNGSKARTE INSTALLATION DER STROMVERSORGUNG LUFTER- UND KUHLER-UNTERSTUTZUNG GFTER. i g
[Naomn | LUFTER- UND KUHLER-INSTALLATION LEDS ANSCHLIESSEN (5V ARGB)
INSTALLAZIONE DELLA SCHEDA D'ESPANSIONE INSTALLAZIONE DELL’ALIMENTATORE SUPPORTO VENTOLE E RADIATORE
INSTALAGAO DA PLACA DE EXPANSAO INSTALAGAO DA FONTE DE ALIMENTAGAO SUPORTE PARA VENTOINHA E A RADIADOR T INSTALLAZIONE VENTOLE E RADIATORE ALIMENTAZIONE LED (5V ARGB)
2y 7t gX| HYUSSYA HA T 8L 2tc|ofjol e x| @ INSTALAGAO PARA VENTOINHA E A RADIADOR ALIMENTAGAO DOS LEDS (ARGB 5V)
$3E A — RO BROLE W77 BEU5I T4 B 9 2flojolef 4% LED T 747/(5V ARGE)
rRERR RETEREESS TrVEST IR DRI e LEDADEB 144 (5V ARGB)
BT ERMAEE RBRIB R 2o — A LED f#e8 (5V ARGB)
I T EERRE S % LED % (5V ARGB) I
-
iy
-
TOP: UP TO 360MM E E
FRONT: UP TO 420MM : = it
~ o wi e provide
REAR: UP TO 140MM = = I e proy
within liquid
cooler packaging.

120mm

FAN

TOP:3 X 120MM / 2 X 140MM
FRONT: 3 X 120MM / 3 X 140MM
REAR: 1 X 120MM /1 X 140MM

Connect the 5V ARGB (Female) end to an available 5V 3-pin ARGB header on your motherboard.

Conecta el extremo del ARGB 5V (hembra) a un cabezal ARGB 5 V de 3 pines que tengas disponible en la placa base.
Raccordez 'extrémité RVBA 5 V (femelle) a une embase RVBA 5V 3 broches disponible sur votre carte mére.
SchlieB das 5V ARGB-Kabel (Buchse) an einen freien 5V 3-Pin ARGB-Anschluss auf deinem Motherboard an.

Collega il terminale ARGB 5V a un connettore 5V a 3 pin disponibile sulla scheda madre.

Ligue a extremidade ARGB 5V (fémea) a um conector disponivel ARGB 5V de 3 pinos na sua motherboard.

5V ARGB(Y) EHEE OtE 2 E0f Qs AR 7Hs58H 5V 3T ARGB of| G off (I ATL|C,

5V ARGB (#R) i F& X —R—F LOBAEIAEGSV 3L ARGBAY A —|THERILE T,

¥ 5V ARGB ( fBE ) IRiERE EM R SRR 5V 3 £ ARGB 3L -

#% 5V ARGB ( 388 ) IREE R HIR HAYTI 8 5V 3 #t ARGB #58 -

RAYMERTRIR/IRAMERTREE

FmER A - B (B ) : CA-2301,CA-2304

REGULATORY STATEMENT

. A DEPOSER A DEPQSER
Cet appareil, EN MAGASIN  EN DECHETERIE

ses accessoires

et cordons se
recyclent

rece & &

PAPER

KONFORMITATSERKLARUNG

Das Gerat entspricht den Anforderungen der entsprechenden EU-Harmonisierungsrichtlinien des Rates:
« EMV-Richtlinie 2014/30/EU

» RoHS-Richtlinie 2011/65/EU & (EU) 2015/863

OSWIADCZENIE ZGODNOSCI
Urzadzenie jest zgodne z wymaganiami okreslonymi w odpowiednich unijnych Dyrektywach harmonizacyjnych Rady:

NZXT GLOBAL WARRANTY POLICY

This NZXT Global Warranty Policy governs the sale of products by NZXT to you.
I. WARRANTY LENGTH

New NZXT Product Warranty Length for Parts

Computer Cases 2 Years

Any replacement product will be covered under warranty for the remainder of the warranty period or thirty days, whichever is

Once approved, you'll receive an RMA number, upon which you will be asked to ship the defective item back to NZXT with the
RMA number clearly marked or labelled on the package. NZXT recommends that appropriate measures are taken to safeguard
the product from damage during shipping.

VIIl. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of
California (with exception of its conflict of law provisions), and the application of the United Nations Convention of Contracts
for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction of the courts of California is agreed,

longer return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will
not accept returns without prior approval.

The cost of shipping will be borne at the first instance by you; however, if the purchased item is defective, NZXT will
reimburse reasonable postage or transportation of costs.

Outside North America, Europe, and Australasia:

BEEYERE(LESES Points de collecte sur www.quefairedemesdechets.fr + Dyrektywa EMC 2014/30/UE i longer. Proof of purchase is required for warranty service. which means that you may bring a claim to enforce your consumer protection rights in connection with this Global Warranty in If your product needs to be returned within the warranty period, please contact the retailer or distributor from whom you
5 « Dyrektywa RoHS 2011/65/UE i (UE) 2015/863 the country which you have your habitual residence where you may have additional rights. These rights may vary. purchased the product.
BB R i (Pb) fR(Cd) K(Hg) RN (Cree) ZIREE(PBB) %R B K (PBDE) 1I. WHO IS PROTECTED For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of
e o o o o o o UKCA DECLARATION OF CONFORMITY KONFORMITETSDEKLARATION The Warranty covers only NZXT products purchased by the original consumer. purchase or, if different, their country, state, or province of residence, the benefits conferred by this warranty are in addition X. NZXT.COM STORE RETURNS/EXCHANGE POLICY
o o o o o o o The object of the declaration described above is in conformity with the relevant UK harmonization legislation: Enheten u.ppfy_ller kraven som anges i Radets direktivs relevanta harmoniseringslagstiftning for Europeiska unionen: :LJJ:H;::gnhstjr:gglraewrzecdalzsbiol?r\rlmei{eeg tl)\lyzf(l'jl'(‘:shlf:;i?ilé;niirl?r;?::gtIaonndl?tv;sszﬂadorsgil;l:ttlgr:zb:?r?rerz:tl:::‘;:rrlearft“Zibtlrllletl)', :env(\j/eorr Eligible products under this NZXT Warranty qualify for a full refund or exchange only with an authorized RMA number and
+  Electromagnetic Compatibility Regulations 2016 + EMC-direktivet 2014/30/EU IIl. WHAT IS AND IS NOT COVERED refurbished. with a similar function that is equal o greater in'value de ending on su ly. ’ if the item is returned to the NZXT.com store inventory within 30 days of purchase. Returns are not allowed beyond 30 days
EL-1 @) @) @) @) (¢} @) + Electrical Equipment (Safety) Regulations 2016 «  RoHS-direktiv 2011/65/EU & (EU) 2015/863 Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's reasonable opinion, malfunctions ’ 9 P PRY: of the purchase date. The NZXT.com Store reserves the right to deny any return or exchange. Refunds will be credited to the
T/ o o o o o o « The Restriction of the Use of Certain Hazardous Substances in Electrical and Electronic Equipment Regulations 2012 within th_e warrar!ty per_iod_, NZXT W.“l provid_e you atits sole di_scretion with a r_epaired or replacement product, either new original method of payment. To initiate a return, simply submit a request via NZXT support site.
[ o o o o ° o VERKLARING VAN OVEREENSTEMMING or refurbished, with a similar function that is equal or greater in value depending on supply. Our warranty does not cover the In the United Kingdom:

ARERAGWIESI/T 11364 MELHH -

O: RMRBEEVREZADEREH RS
X: RAZASNREVEZBHNE—IRMBPHS BB GB/T 26572 MIEMN REER, R XBHINFTEMBHZ 2011/65/

EU RIHLSE -

KPR BI9EGR/T 26572 ENIRESRT -

EmBE A, B (2X) : CA-2301,CA-2304

ROHS STATEMENT

This product is compliant to implemented RoHS (Restriction of Hazardous Substances) type regulations worldwide, including
but not limited to China, India, Japan, Korea and European Union.

REACH STATEMENT
EU REACH SVHC Disclosure on Candidate List

REACH (Registration, Evaluation, Authorization and Restriction of Chemicals, EC 1907/2006) is the European Union's (EU)
chemical substances regulatory framework. REACH requires NZXT Inc. to provide customers with sufficient information on
Substances of Very High Concern (SVHC) contained in products in concentration above 0.1% weight by weight (w/w) to allow
safe use of the product.

DECLARATION OF CONFORMITY
The device complies with the requirements set out in the Council Directives relevant Union harmonisation legislation:

Het apparaat voldoet aan de vereisten van de relevante richtlijnen van de Raad met betrekking tot harmonisatiewetgeving in
de Unie:

« EMC-richtlijn 2014/30/EU
«  RoHS-richtlijn 2011/65/EU & (EU) 2015/863

To protect the global environment and as an environmentalist, NZXT must remind you that:

Under the European Union ("EU") Directive on Waste Electrical and Electronic Equipment,

Directive 2002/96/EC, which takes effect on August 13, 2005, products of "electrical and electronic equipment”
cannot be discarded as municipal waste anymore and manufacturers of covered electronic equipment will be
obligated to take back such products at the end of their useful life. NZXT will comply with the product take back
requirements at the end of life of NZXT-branded products that are sold into the EU. You can return these products to

following:

« any product or serial number/warranty sticker modification applied without permission from NZXT;

- any damage that is not a manufacturing defect;

« damage, deterioration or malfunction resulting from: accident, abuse, misuse, neglect, fire, water, lightning, or other acts of nature,
unauthorized product modification or failure to follow instructions included with the product;

« improper installation, unauthorized alterations or modifications, or repair or attempted repair by anyone not authorized by NZXT;

« shipping or transport damage (claims must be made with the carrier);

« normal wear and tear.

NZXT does not warrant that this product will meet your requirements. It is your responsibility to determine the suitability of

this product for your purpose. For NZXT Store orders, we cover two way return shipping for all exchanges and returns. For all
other authorized dealers, NZXT Support does not cover return shipping and only covers one way shipping from NZXT back to

the end user for exchanges. Two way expedited shipping is provided for all PSUs covered under the Less Than Three program,
indiscriminate of purchase location, provided the location is an approved NZXT reseller.

« For NZXT products sold to customers in the UK, during the expected lifespan of your product your legal rights entitle you to the
following:
> Up to 30 days: if your goods are faulty, then you can get an immediate refund.
> Up to six months: if your goods can't be repaired or replaced, then you're entitled to a full refund, in most cases.
> Up to six years: if your goods do not last a reasonable length of time you may be entitled to some money back.
« If the person seeking to rely on the guarantee is not the original consumer, the NZXT Warranty will cover the product in relation to
that person provided that they are able to provide proof of the transfer of the benefit of the guarantee from the original consumer.
« Theimplied warranties under the Consumer Rights Act 2015 says that your goods must be as described, fit for all purposes for
which such goods are usually supplied, and of satisfactory quality.

In the EU:

« If you are a consumer and have your habitual residence in the EU, you additionally enjoy the protection afforded to you by provisions
that cannot be derogated from by agreement by virtue of the law where you have your habitual residence.

Visit nzxt.com/warranty and support.nzxt.com for information on warranty coverage and service.

Visite el sitio Web nzxt.com/warranty y support.nzxt.com para obtener informacion sobre la cobertura y el servicio de la garantia.

Visitez nzxt.com/warranty et support.nzxt.com pour les informations de la couverture de la garantie et du service.

Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com und nzxt.com/warranty.

vV v v v

RAMER IR G + EMC Directive 2014/30/EU o et e IX. WARRANTY SERVICE FROM RESELLERS s i o - )
o . _ - - . " . . « RoHS Directive 2011/65/EU & (EU) 2015/863 p - V. EXCLUSION OF DAMAGES (DISCLAIMER In the event that a warranty service is sought, you must provide proof of purchase (store receipt or invoice) in order to receive Visitare il sito nzxt.com/warranty e support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia.
B #(Pb) iR (Cd) K(Hg) N ffEE (Cree) ZIRK % (PBB) 2R B (PBDE) ) 3 ) _ ) ) ) o ) : el 3ES ( 'ER) o ) ) ) the service and if deemed necessary, repair or replacement product. > Visite nzxt.com/warranty e support.nzxt.com para obter informacdes sobre a cobertura da garantia e assisténcia.
e o o o o o o DECLARATION DE CONFORMITE En tant qu'écologiste et afin de protéger 'environnement, NZXT tient a rappeler ceci: NVZXT's sole obllgatlor} and liability unFier th!s warranty is llmlteg to the repair or rgplacement ofa defectlve product WIth s FIE 5 wo|of AH|A K S S 2H0ISHA| 20 N / e o " S upss) =AY BRI
N L'appareil est conforme aux exigences définies dans les directives du Conseil relatives a la législation d'harmonisation de Au sujet de la directive européenne (EU) relative aux déchets des équipement électriques et électroniques, directive 2002/96/ either a new or refurbished product with a similar function that is equal or greater in value at our option. NZXT shall not, in any . = e e —eTETE = nzxt.com/warranty === Support.nzxt.com < ol .
U] ¢) ) ) [e) (e} [e) 'Union : EC, prenant effet le 13 aoGt 2005, que les produits électriques et électroniques ne peuvent étre déposés dans les décharges ou event, be liable for any incidental or consequential damage, including but not limited to damages resulting from interruption of In North America: > (REFEFES KUY —E RITEIT A IE$RIC DL T4 support.nzxt.com & nzxt.com/warranty (C77 £ AL TLEE L,
TEER le) o o le) o) le) . Directive EMC 2014/30/UE tout simple-ment mis & la poubelle. Les fabricants de ces équipements seront obligés de récupérer certains produits en fin de service and loss of data, business, or for liability in tort relating to this product or resulting from its use or possession. Within the first 60 days after purchase, please return your product (or for power supplies installed within our enclosures, just s VS nzxt.com/warranty Fl support.nzxt.com T IR ESERRSHES -
" . N vie. NZXT prendra en compte cette exigence relative au retour des produits en fin de vie au sein de la communauté européenne. the failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no 5 nzxt.com/warranty i support.nzxt.com s s
BEERR/H 9] ] o o 9] o +  Directive RoHS 2011/65/UE et (UE) 2015/863 Par conséquent vous V. LIMITATIONS OF IMPLIED WARRANTIES longer return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will > %5/ nzxt.com/warranty #l support.nzxt.com T RERFEHENEZRENE -
BEEEH o] (@) (@) (o] 0] (o] pouvez retourner localement ces matériels dans les points de collecte. There are no other warranties, expressed or implied, including but not limited to those of merchantability or fitness for a not accept returns without prior approval and an RMA number.

HEE1L "BHOIWI% RBHO.0IWwt% " RIERANE BN SEBHEI LSS E£ME -
#HE2. "O" HEZERAVEZENLSSRBUBEN LS SE%EE -
HEI. "~ GEZARBYEARHRES -

DECLARACION DE CONFORMIDAD

El dispositivo cumple los requisitos impuestos en las directivas del Consejo relativas a la legislacion de armonizacion de la
Unién Europea:

« Directiva sobre compatibilidad electromagnética 2014/30/UE

« Directiva sobre sustancias peligrosas 2011/65/UE y (UE) 2015/863

DICHIARAZIONE DI CONFORMITA

Il dispositivo & conforme con i requisiti definiti nelle Direttive del Consiglio relative alla Norma sull'armonizzazione dell'Unione:
« Direttiva EMC 2014/30/UE

« Direttiva RoHS 2011/65/UE e (UE) 2015/863

particular purpose. The duration of implied warranties is limited to the warranty length specified in Paragraph I.

V1. TO OBTAIN TECHNICAL SUPPORT

If you have already referenced your product owner's manual and still need help, you may contact us by phone at +1 (800) 228-
9395, by email at service@nzxt.com, or visit the NZXT Support site at nzxt.com/customer-support.

VIl. HOW TO OBTAIN A WARRANTY SERVICE FROM NZXT
To receive a warranty service for your product when purchased directly from NZXT, you must submit a request via the NZXT
Support site outlining the problem. If a technician deems the product defective or requiring testing, you will be required

to provide a copy of your proof of purchase, which will enable you to submit a Return Merchandise Authorization “RMA” request.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed within our enclosures, just the
failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not
accept returns without prior approval.

In Australasia:

Within the first two years after purchase, please return your product (or for power supplies installed within our enclosures,
just the failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no

Scan the QR code or visit manuals.nzxt.com/h7flowrgb2024
to view or download the full manual.

NZXT, Inc. | 15736 E. Valley Blvd, City of Industry, CA 91744, USA

NZXT Europe GmbH | Ammerthalstrasse 32 Kirchheim bei Muenchen 85551, Germany
NZXT UK Ltd. | First Floor 5 Fleet Place London EC4M 7RD, GB United Kingdom
+1(800) 228-9395 / service@nzxt.com / nzxt.com




